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1. Represent the following numbers on the abacus.
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2. Write the number names in the Indian and Internation: ",
(a) 6475 (b) 92087 (¢) 549306 (d) 1274583
3. Write in the expanded form.
(a) 8347 (b) 15,209 (c) 753,621 (d) 37,35,438

Write the smallest and the greatest 6-digit numbers that can be formed using t
digits 8,4,0, 7, 5, 2. Use each digit only once.

5. Arrange in ascending order.

(a) 3249); 31,49); 38,149 32,149 31,941

(b) 9,82,467; 9,82,476; 8,93,756; 8,99,324; 992,946

6. Arrange in descending order.
() 66,075; 69,328; 69,915; 66,208; 67,143
(b) 10,081; 10,180; 10,089; 10,918; 10,810
Arjun wants to treat his friends on his birthday. Using the given information, estir
the total amount he needs for the treat.
« 4 packets of chips costing 2 78 (rounded off to the nearest 10)
+ 6 samosas costing 2 62 (rounded off to the nearest 10)
4 pizzas costing ¥ 1,549 (rounded off to the nearest 1,000)
5 plates of momos costing ¥ 135 (rounded off to the nearest 100)
3 cartons of juice costing ¥ 178 (rounded off to the nearest 100)
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Write True or False,
(a) The successor of 2,86,789 |5 2,686,788,
(0} The smallest 6.digit number is 100,000,

€} 82,354 rounded off 1o the nearest hundred 15 92,400,

(A Number of tens in ten thousand Is 100,

(e) The place value of 4 in 4,826,139 Is four mifions,
Choose the correct answer,

(a) 50,000 + 700 + 80 + 4 in standard form Is:

(150784 (i) 57,084 (i 57,804
(b) The predecessor of 1,20,980 is
(i) 1.20981 (1 1,20,990 (1120979
(c) The place value of 5 in 15,68,324 Is:
(i) 50,000 (i)_5.00,000 i 5000
(d) 8,939 rounded off to the nearest 100 Is:
(118,900 (i) 8,800 < i 8910
(e) The largest 6-digit number formed using the digits 2,0, 1, 2,4, 8 Is:
(i) 842,120 &&41,1|D (i) 841,220

Fill in the blanks.
(a) Two million sixty-seven thousand one hundred thirty-five Is written in numbers as

/
4

(b) 78492015 <~ than 7.85,647. )(

{c) The successor of 472,199 is 72220 . 7U\V/

(d) The predecgséor of 35,906,187 is
(e) The largest number among 7,20,147;7,02147: 71017702714 1s FAQLYZ .

(U] 2 comes between 872,379 and 872,381,
100000 = /o hundreds
(h) 1 million =__Lﬂ__|ikhx\
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Convert the following Hindu-Arabic numbers to Roman numera’s A

s = XY/ ) 49 =Wl LX ERL s
@wse CECN  wameil i 450 ‘{’-_’-Q-.-J_
P Rt RUK - Ep— wase=CCZLTV
Wsws 83 = ! mie=" " >
Convert the following Roman numerals to Hindu-Arabic numbers. 10/17
wavy = tho mue s £2 0 wxow
@Ccom s L @V =123 (Moo=
woca = 200 moemxv= 1D we =
() un =875 ) XX = ) moa, =
Find the value of the following Roman numerals.
a) LXXXIV + XXVI (b) KC + LKt (© coxa -
(d) DXV - COXX (o) LX+ 1 ) XXX = XV
(9) XL~ XX (h) XCX - X i) XX = XX

. What comes before of after the given Roman numerals?
() £ AL xxav ® 2L ¢ (0 xxwx X L
(@ ceoxe, YAYKL (o) XXX 0 Xux
(o) LELA L xx ) |tdnlx xe/ W OX ¢ paw
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2. Form two Roman numerals that are also word:

Put the correct sign <, > of =

@ a6 () xxv
wocaw (s w rZ)er—|

@ a
@ 1500 (e) XU+ 12 @ LXHIV < v /") [4 % “

. Change the Hinds
u-Arabic numerals to fom:
an numerals and sol Sl o171
the answer in Roman numerals. i o

(@) 400 + 137 (¢ 1\ (b) 50 - 27 ©3+12 @ 29-9
(@) 733-20 () 100+ 65 g B0-307 | 25045

There are seven letters used as Roman aumerals 1.V, X, L, €, D and M

(a) Which s the biggest correctly formed Roman numeral using each pum=r2! C7¢
(b) Which is the smallest correcty formed Roman numeral using €ach numeral on
s in English. For example, M1 15 3 Fat
numeral and an English word:




